ITEM NO

g % é DWG NO
552 A-5860
592
4/0 CLASS "H" (.601 DIA)
529 -~ 112—

% ; 2 _ \Eaj _

41/2

| 24 D

4/0 OR 336.4 MCM 2/0 (7) STR CU - (.414 DIA)

GROOVED TROLLEY WIRE

iz MATERIAL:

oc COPPER ALLOY

(2) CARRIAGE BOLTS, NUTS AND

LOCK WASHERS- EVERDUR

2| 1.42 LBs
LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:

REV DESCRIPTION DATE | BY [APR DRNESATE‘ FAFL DOSSERT

3 | RE-DRAWN IN INVENTOR 31610 | Lk | EP | 6.24-81

oK BY: CLAMP, AUXILIARY & CONTACT FEEDER
Boant | ACFC21-13-25 1 oF 1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

4/0-350 MCM

ITEM NO

DWG NO

D-5884

1/2-13 UNC - 2A

CONTACT WIRE

MATERIAL

ALUMINUM BRONZE

(MIN YIELD STRENGTH 30,000 PST)
BOLTS, NUTS, AND L.WASHERS - EVERDUR

LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE | BY [APR DRNESATE: FAFL DOSSERT
S | RE-DRAWN N RVENTOR 10710091 BR L BP | &:19-82 | BRACE, BALANCED TENSION, 2 WIRES, 4/0-350
CHKJIZ?ATE' MCM CW
8-19-82 REV BTB34T-2 10F 1




ITEM NO
g % é DWG NO
o2 D-4589
STUD, 5/8-18NF-2A, ST STL
B (SCAT-63-SS)
5/8-11
Y
- :
4/0 OR 336.4 MCM
GROOVED TROLLEY
WIRE
RS
' MATERIAL:
1 ALUMINUM BRONZE ASTM B30.
*3 TORQUE STUD 45 FT-LBS
SECTION A-A
LOCATION CONTRACT NO CUST /CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE BY | APR DRNESATE‘ FAFL DOSSERT
5 | RE-DRAWN IN INVENTOR 3310 | LK | EP | 42174
ok CLAMP, TROLLEY FEEDER
CHK DATE: [REv
42174 |4 DT2FR-34T-63 10F 1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

ITEM NO

DWG NO

D-6507

HANGER ROD
(HA44-INC-L)

—1/2-13

CATALOG NUMBER

BO

MATERIAL
ALUMINUM BRONZE ASTM B30

J2TA21T-200-20 | 20 BOLT, NUT AND L. WASHER - SILICON BRONZE

J2TA21T-200-35_| 35

J2TA21T-200-50 | 50

LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE BY [ APR DRNIEATE‘ FAFL DOS SERT
2 REDRAWN IN INVENTOR 5-17-10 | NF | EP 3-26-87‘
CHJKSBYZ AUXILIARY WIRE TO TROLLEY WIRE CLAMP

2687 |5 J2TA21T-200-3 SERIES 1 or 1




ITEM NO

DWG NO

D-5927
2"

APPTOX.

: 7 T L
N
[ o =
Y = o
oo] _ > m
1 S w
3 E 2
=0 O
: = X
< XA =
o ~ o W AS
o f————— N ————» x = AVW a4
LN — o9 Ihﬁw%
/ o G203
+ O MRNAWn
"4 ITTNT,)
a ] 2 3aps
—_ <t
x _ _l i Mmmm
™ _ 1l
| L]
|
I

THIS DRAWING AND ALL INFORMATION ON IT IS THE PROPERTY OF AFL. IT IS CONFIDENTIAL AND IT IS GIVEN TO YOU FOR A LIMITED PURPOSE AND MUST BE RETURNED UPON REQUEST. NEITHER THIS
DRAWING OR ANY PART OF IT NOR ANY INFORMATION CONCERNING IT MAY BE COPIED, EXHIBITED, OR FURNISHED TO OTHERS NOR PHOTOGRAPHS TAKEN OF ANY ARTICLE FABRICATED OR
ASSEMBLED FROM THE DRAWING WITHOUT THE CONSENT OF AFL.

w
o
£ R
z E
o QM M
% S =
3 Z |o
O O |o
als 2
> |
E <
N_uq_u
o
x |W©O
= | I
wml| 2 |3
TR
o AMJ
= @)
o
<
1 (N
s
p4
o)
3]
i
o
. Ly . Wo
> kEoo> =
B <Pm <
N 239
FWzwxT o
S E-0 Iz
o
% |
> |
[ [ e}
wl|o
wile
<|o
O«
p4
o
=
S
w
o]
= |3
218|c
o118
RWW
ol
%V
al=
oz
pz4
=
<<
o
a
w
o
>
W | o
o




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

13/4

~13/16 -+

2

2/0 STR CU (.419 DIA) OR
7/16 COPPERWELD 7 NO. 7 (.433 DIA)

APPROX.

4/0 - 350 MCM CW

MATERIAL

ALUMINUM BRONZE

1
/
\STUD, 5/8-18NF

(SCAT-63-SS)

1 1/2—]

ITEM NO

DWG NO

D-4962

L®

\

"

-2A, ST STL

(MIN. YIELD STRENGTH 30,000 PST)
TORQUE STUD 45 FT-LBS

LOCATION

CONTRACT NO

CUST /CONTR

REVISIONS

DRN BY:

REV

DESCRIPTION

DATE

BY

APR ES
DRN DATE:

RE-DRAWN IN INVENTOR

10/01/09

BH

EP 103/13/1981

CHK BY:
JS

CHK DATE:

03/16/1981

T AFL

DOSSERT

CLAMP, DUPLEX, 2/0 STR OR 7/16 (7 NO 7) MW, 4/0 -
350 MCM CW

REV

5

JBC13-21T-200

10F1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

4/0 STR CU (.528 DIA)

=
|

111/16 _m

=T

4/0 OR 336.4 MCM
CONTRACT WIRE

ITEM NO

DWG NO

D-5829

STUD, 5/8-18NF-2A, ST STL
(SCAT-63-SS)

MATERIAL
ALUMINUM BRONZE

(MIN YIELD STRENGTH 30,000 PST)
TORQUE STUD 45 FT-LBS

LOCATION

CONTRACT NO

CUST /CONTR

REVISIONS

REV

DESCRIPTION

DATE

BY | APR

RE-DRAWN IN INVENTOR

10/23/09

BH | EP

DRN BY:
ES

DRN DATE:

4-16-82
CHK BY:
JS

CHK DATE:

4-16-82

T AFL

DOSSERT

CLAMP, DUPLEX, 4/0 STR CU MW, 4/0-336.4 MCM

CW

REV

3

JBC21-21T-200

10F1




ITEM NO

g % é DWG NO
523 D-6238
592
5%
350 MCM CU (.681 DIA) MW L1

SF )\\ ——— ’L’T

\ / / I S

. N O

s> L _{h\ { ]I

|

—M e | @ |

22 T 2 1/8 MAX

2 ”JLJ"! 1 / l J

3 W:JJ - —‘7&7——‘~

<t . ¢

STUD, 5/8-18NF-2A, ST STL

(SCAT-63-SS)

4/0 - 350 MCM CW

23 MATERIAL

ALUMINUM BRONZE

TORQUE STUD 45 FT-LBS

| SCALE1:1
LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:

REV DESCRIPTION DATE BY | APR DRNIEATE: FAFL DOSSERT

RE-DRAWN IN INVENTOR

10-5-09 | BH [ EP [10/16/1986

JS

cHkey: | CLAMP, DUPLEX, 350 MCM MW, 4/0-350 MCM CW

CHK DATE: [Rev

10/16/1986| 3

JBC35-21T-200

10F1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

750 MCM (.998 DIA)

ITEM NO

DWG NO

+ { / |
g \ /
ok \ / Y I N
52 \ [F~ /
| |
o2 L
=
| 2 9/16
%< =3
83 I 5
L
B ¢
STUD, 5/8-18NF-2A, ST STL/
(SCAT-63-SS)
4-0 - 350 MCM CONTACT WIRE
ALUMINUM BRONZE
(MIN YIELD STRENGTH 30,000 PSI)
TORQUE STUD 45 FT-LBS
SCALE1:1
LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE BY [ APR DRNB[I)-lATE: FAFL DOSSERT
110209 [CLANMP, DUPLEX, 4/0 - 350 MCM CW, 750 MCM (.998
| DIA) MW
CHK DATE: |REv
0 JBC75-34T-300 T or 1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

ITEM NO

DWG NO

D-5659

S

4/0 OR 336.4 MCM GROOVED

TROLLEY WIRE (SCAT-63.99)
CATALOG # | CABLE SIZE A

JBC100-34T-212_| 1000 MCM | 2 1/8 MIN.

JBC100-34T-300 | 1000 MCM 3

JBC100-34T-450 | 1000 MCM | 4 1/2

MATERIAL:
ALUMINUM BRONZE ASTM B30

TORQUE STUD 45 FT-LBS

\—STUD, 5/8-18NF-2A, ST STL

LOCATION CONTRACT NO CUST/CONTR
REVISIONS DRN BY: F
REV DESCRIPTION DATE | BY |APR DRNESATE. ’AFL DOS SERT
2 | RE-DRAWN IN INVENTOR 3310 | Lk | EP | 5-6-81

CHK BY: CLAMP, TROLLEY CONTACT

CHK DATE: [Rev

5681 |5 JBC100-34T-SERIES

10F1




TTEM NO
DWG NO
D-6415
1/2-13

BOLT, NUT AND L. WASHER - SILICON BRONZE

a o

o™

0 | | m

~ 1 T =

h [

w0

| 2

(U]

N

prd

(@)

x

m

< =

= ={=)

— x| S

i >

=<t
N
S~
i

LN A~

.50 LB

THIS DRAWING AND ALL INFORMATION ON IT IS THE PROPERTY OF AFL. IT IS CONFIDENTIAL AND IT IS GIVEN TO YOU FOR A LIMITED PURPOSE AND MUST BE RETURNED UPON REQUEST. NEITHER THIS
DRAWING OR ANY PART OF IT NOR ANY INFORMATION CONCERNING IT MAY BE COPIED, EXHIBITED, OR FURNISHED TO OTHERS NOR PHOTOGRAPHS TAKEN OF ANY ARTICLE FABRICATED OR
ASSEMBLED FROM THE DRAWING WITHOUT THE CONSENT OF AFL.

[T
o
it
o
o
c | &)
o]
o S
=
® S
3 o
Ol g |w
N
Qlz |+
1
O |-
’4
a |m
M I
< =
L_CW_
o o
z
- A )
Q
<
1 (8
«
b
o]
o
>
L v—
C
Lo, i
BrIRD,<%
FOZz—XD ¢+
z- X
DD_.DC C_.D
Tla
o
AE
> w
m|Z2
w2
<l
ol
pd
o
E
S
o |2
- o
al =z
>15
o8 lx
gl
e
0|z
ofz
zZ
=
<<
o
a
w
o
>
|~
o




ITEM NO
DWG NO
D-5799

T
1/2-13
|

BOLT, NUT AND L. WASHER - SILICON BRONZE

o
2
=
T
Wy Ly 2
= | = LLl
W ——— _ L _ W W
5 _ 5 &
< [ < aa]
= = s
= < = |_U
o A o I =2
(@) f—————— () —————————— (@) =
o — s L =
S 5 23
N~ = S|<
AN
O
™
™M
_ o
A o
o
S~~~
<
N
S~
i
i
o
A~ o
N

THIS DRAWING AND ALL INFORMATION ON IT IS THE PROPERTY OF AFL. IT IS CONFIDENTIAL AND IT IS GIVEN TO YOU FOR A LIMITED PURPOSE AND MUST BE RETURNED UPON REQUEST. NEITHER THIS
DRAWING OR ANY PART OF IT NOR ANY INFORMATION CONCERNING IT MAY BE COPIED, EXHIBITED, OR FURNISHED TO OTHERS NOR PHOTOGRAPHS TAKEN OF ANY ARTICLE FABRICATED OR
ASSEMBLED FROM THE DRAWING WITHOUT THE CONSENT OF AFL.

[T
o
=
o
=
c | &)
5
o QM
=
% S
3 o
Ol 2 |o
Nl k=
D = |
O |-
’4
A |
M I
< =
L_CW_
0 m
z
- A )
Q
<
1 (8
T
b
o)
o
>
L v—
C
T T
B,,<Pm <
o an~
gUzqaE>cq
a L0 I
a o
Tla
o
AE
> w
m|Z2
w2
<l
als
pd
o
=
S
o |2
- o
al =z
>[5
o8l
gl
e
0|z
ofz
zZ
=
<<
o
a
w
o
>
w |~
o




ITEM NO
DWG NO

D-6584
11/8

-

11/2

Ll
o 0
a w =
53 g2
_ 98 B o
w9 e © G 3
QUE,b | ﬂ MWR
g - i
ook oI
a »n M UV
0o 00 <€
<O~ MW
a 53
| ) <O
WDE
= N
k mwAnNU
——A 0P g
N o m
. 52235
R -~
— o4
I20H;
= =g ea]

THIS DRAWING AND ALL INFORMATION ON IT IS THE PROPERTY OF AFL. IT IS CONFIDENTIAL AND IT IS GIVEN TO YOU FOR A LIMITED PURPOSE AND MUST BE RETURNED UPON REQUEST. NEITHER THIS
DRAWING OR ANY PART OF IT NOR ANY INFORMATION CONCERNING IT MAY BE COPIED, EXHIBITED, OR FURNISHED TO OTHERS NOR PHOTOGRAPHS TAKEN OF ANY ARTICLE FABRICATED OR
ASSEMBLED FROM THE DRAWING WITHOUT THE CONSENT OF AFL.

w
o
B
M|
o -
IS
o Sm
=
2122 |
OlE |®
7H N
DEﬂ
= o
> |™
w |
H__6
wl| © |5
x |O
WL - |2
o <~ |
z o
p A
3 =
: WS
E —
o} @)
o
i
i o
Lol e
BpIPEo3Y
WEN:Z_UWHKQ__
S XS0 T
o
% |
> | x
[aa [ |
wl| o
=
<|o
Ol o
pd
o
E
S
n
o)
- |3
218|c
=19
RWW
ol
%V
al=
oz
zZ
=
<<
o
a
w
o
@
Rn/_




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

—300 MCM (.630 DIA) OR
4/0 (.613 DIA) COPPERWELD

~—11/8—

WIRE
SPACER

ITEM NO

DWG NO

D-7388

21/4

T
/

|
{

1.6 LB

—STUD, 5/8-18NF, ST STL

MATERIAL

ALUMINUM BRONZE ASTM B30
BOLT, NUT AND L. WASHER - SILICON BRONZE
TORQUE STUD TO 45 FT-LBS

4/0-350 MCM CONTACT WIRE

LOCATION

CONTRACT NO

CUST / CONTR

REVISIONS

REV

DESCRIPTION

DATE

BY

APR

REDRAWN IN INVENTOR

5-18-10

NF

EP

DRN BY:
BB
DRN DATE:

T AFL

DOSSERT

11-23-94
CHK BY:
JS

CLAMP, CW 4/0, ADJUSTABLE HEIGHT

CHK DATE:
11-24-94

REV

2 JBCR30-34T

10F1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

.

ITEM NO

DWG NO

D-7341

—CABLE RANGE

|
—

MIN. 4/0 TROLLEY WIRE (.482 DIA)
MAX. 4/0 ROPE LAY CABLE (.599 DIA)

~—15/16 —=

/

]
r_

11)2 I
L
|

0.45 LB

4/0-350 MCM CONTACT WIRE

STUD, 5/8-18NF, ST STL—
(SCAT-63-SS)

MATERIAL
ALUMINUM BRONZE ASTM B30
TORQUE STUD TO 45 FT-LBS

LOCATION

CONTRACT NO

CUST / CONTR

REVISIONS

REV

DESCRIPTION

DATE

BY

APR

REDRAWN IN INVENTOR

5-18-10

NF

EP

DRN BY:
ET

DRN DATE:

5-9-94
CHK BY:
JS

CHK DATE:

5-11-94

T AFL

DOSSERT

CLAMP, CW 4/0

REV

3 JBCV21F-21T-150 10F 1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

CLAMPING OPTIONS:

MESSENGER WIRE:

ROD:

.500 - .562 DIA.

13/4

APPROX

4/0 ROPE-LAY CLASS GOR H

250 MCM CLASS A-D HD DRAWN COPPER
CONTACT WIRE:

300 MCM

ITEM NO

DWG NO

D-5627

o

L
/

:
STUD, 5/8-18NF-2A, ST STL
(SCAT-63-SS)
4/0 - 350 MCM CW
MATERIAL
ALUMINUM BRONZE
(MIN YIELD STRENGTH 30,000 PSI)
TORQUE STUD 45 FT-LBS
SCALE1:1
LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE | BY [APR DRNE[IATE‘ FAFL DOSSERT
19 | RE-DRAWN N RVENTOR 22009 | ot | €@ l00/22/1998 [“C I AMP DUPLEX , 4/0-250 MCM MW, 4/0-350 MCM
PL CWwW
CHK DATE: [HEv
09/23/1998| 13 JBCV21F-21T-200 10F 1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

~—11/2—

ITEM NO

DWG NO

D-5738

4/0 TROLLEY WIRE OR
4/0 ROPE LAY CABLE (CLASS G)

1]

| I

27/8

]

-
\

L STUD, 5/8-18NF, ST STL
(SCAT-63-SS)

4/0-350 MCM GROOVED TROLLEY WIRE -

MATERIAL
ALUMINUM BRONZE ASTM B30
TORQUE STUD TO 45 FT-LBS

0.75LB
LOCATION CONTRACT NO CUST /CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE BY | APR DRNE[iTE‘ FAFL DOSSERT
4 REDRAWN IN INVENTOR 5-18-10 | NF EP 9-23-81 ’
CHJKSBY: CLAMP, CW OR MW 4/0
CHK DATE: [REV
9-23-81 JBCV21F-21T-312 10F 1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

STUD, 5/8-18NF-2A, ST STL
(SCAT-63-SS)

250 MCM FLEX

CLASS "G" OR "H" (.653 DIA)

OR

350 MCM CW (.620 DIA)

ITEM NO

DWG NO

D-6365

i

Falln T 2" MIN B
ﬁ I 2 1/8" MAX
J
T L, |
4/0 - 350 MCM CW
MATERIAL
ALUMINUM BRONZE
(MIN YIELD STRENGTH 30,000 PSI)
TORQUE STUD 45 FT-LBS
SCALE1:1
LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE BY | APR DRNIEATE: FAFL DOSSERT

RE-DRAWN IN INVENTOR

9-29-09

JS

CW

BH | EP 11171911985 ' G| AMP, DUPLEX, 250 MCM FLEX MW, 4/0-350 MCM

CHK DATE: [Rev

11/19/1985| o JBCV25F-21T-200 1 0F 1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

JBCV25F-21T-

CAST PARTS

250 MCM FLEX

200

ITEM NO

DWG NO

TRIM TO
1/16 TRIM TO
l 1/16
—

H— *

CLASS "G" OR "H" (.653 DIA)

OR

350 MCM CW (.620 DIA)

1)

I

ﬂ T
|
A

[
A

MATERIAL
ALUMINUM BRONZE ASTM B30
TORQUE STUD 45 FT-LBS

Y E===3F {

JBCV25F-21T-200
CAST PARTS
MODIFICATION

2" MIN
21/8 " MAX

A

~—11/2— L
4/0 - 350 MCM CW

STUD, 5/8-18NF-2A, ST STL
(SCAT-63-SS)

LOCATION CONTRACT NO CUST/CONTR
REVISIONS DRN BY: F
REV DESCRIPTION DATE | BY |APR DRNL[t(ATE. ’AFL DOS SERT

32910 ["C'AMP, DUPLEX, 250 MCM FLEX MW,4/0-350 MCM CW

CHK BY:

MODIFICATION

CHK DATE: [Rev

JBCV25F-21T-200-MOD

10F1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

-1 1/2——]

300 MCM GROOVED TROLLEY WIRE —

OR 5/8 DIA. ROD

ITEM NO

DWG NO

D-7550

[T

o)

L ¢
S

—
&
A
|
—Jr
_n,.l.l
|

|_L.n_
|

r
-

|
L
|

]

-
A

300 MCM GROOVED TROLLEY WIRE (.574 DIA)-

—STUD, 5/8-18NF, ST STL
(SCAT-63-SS)

MATERIAL
ALUMINUM BRONZE ASTM B30
TORQUE STUD TO 45 FT-LBS
0.60 LB
LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE BY [ APR DRNE[;I:ATE' FAFL DOSSERT
3 REDRAWN IN INVENTOR 5-18-10 | NF | EP 4-23-94‘
CHF*;LBY: CLAMP, CW 300 MCM
CHK DATE: [HEv
4-23-94 JBCV34T-34T-175 10F 1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

1 1/2——]

300 MCM GROOVED TROLLEY WIRE —

OR 5/8 DIA. ROD

ITEM NO

DWG NO

D-7551

[T

e

2 5/16

=

T

-

0.71 LB

N~

— 300 MCM GROOVED TROLLEY WIRE (.574 DIA)

STUD, 3/8-18NF, ST STL

(SCAT-63-SS)

MATERIAL

ALUMINUM BRONZE ASTM B30
TORQUE STUD TO 45 FT-LBS

LOCATION

CONTRACT NO

REVISIONS

REV

DESCRIPTION

DATE

BY

APR

REDRAWN IN INVEN

TOR

5-18-10

NF

EP

DRN BY:
ET

DRN DATE:

4-23-94
CHK BY:
RL

CHK DATE:

4-23-94

T AFL

DOSSERT

CLAMP, CW 300 MCM

REV

JBCV34T-34T-231

10F1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

1 1/2 ——]

300 MCM GROOVED TROLLEY WIRE —

OR 5/8 DIA. ROD

- {
S

ITEM NO

DWG NO

D-7575

/
—_—
T

~.

-
I

211/16 —

=

—

]

-
§

0.87 LB

300 MCM GROOVED TROLLEY WIRE (.574 DIA) -

L STUD, 5/8-18NF, ST STL
(SCAT-63-SS)

MATERIAL

S W N
I

ALUMINUM BRONZE ASTM B30
TORQUE STUD TO 45 FT-LBS

LOCATION

CONTRACT NO

CUST / CONTR

REVISIONS

REV

DESCRIPTION

DATE

BY

APR

REDRAWN IN INVENTOR

5-18-10

NF

EP

DRN BY:
ET

DRN DATE:

2-14-97
CHK BY:
RL

CHK DATE:

2-20-97

T AFL

DOSSERT

CLAMP, CW 350 MCM

REV

JBCV34T-34T-268

10F1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

-1 1/2 ——]

ITEM NO

DWG NO

D-6366

350 MCM COPPER CABLE (.661 DIA)
OR 350 MCM GROOVED TROLLEY WIRE

S \\

::| j
13/4 +i |
]

£

L.r_!_T_.I

L

N~

I I |
s

4/0-350 MCM GROOVED TROLLEY WIRE STUD, 5/8-18NF, ST STL-

(SCAT-63-SS)

MATERIAL
ALUMINUM BRONZE ASTM B30
TORQUE STUD TO 45 FT-LBS

0.55 LB
LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:

REV DESCRIPTION DATE | BY |APR DRN'EATE. FAFL DOSSERT

2 | REDRAWN IN INVENTOR 519-10 | NF | EP | 11-19-85
CHFSBYZ CLAMP, CW 4/0-350 MCM
CHK DATE: [Rev
11-19-85 | o JBCV35CPR-21T-200 10F1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

S5

]

M
l

13/4

350 MCM CU (.773 DIA)
CLASS "G" OR "H"

ITEM NO

DWG NO

D-6949

\
O

/

STUD, 5/8-18NF-2A, ST STL/
(SCAT-63-SS)

4/0 - 350 MCM CONTACT WIRE

MATERIAL

ALUMINUM BRONZE
(MIN YIELD STRENGTH 30,000 PST)
TORQUE STUD 45 FT-LBS

LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE | BY |APR DRNB[iTE: FAFL DOSSERT
2_| RE-DRAWN ININVENTOR 1023:09) BH | P | 7-24-90 | G| AMP, DUPLEX, 4/0 - 350 MCM CW, 350 MCM CU
CHKBY: d ’ d
Js (.773 DIA) MW
CHK DATE: [REv
7-26:90 | JBCV35F-34T-200 10F 1




ITEM NO

g % é DWG NO
522 D-7555
5%
=20 —300 MCM GROOVED TROLLEY WIRE
El ~11/4— ~11/4—»
ok s N r N

% ; = —(———— J—

3 | | |

i — 1/2-13

! . s

2> D ___ﬁ 3/4 |

%% L:::::::A 37/64

)5 _ __{

4/0, 300 MCM AND 350 MCM

GROOVED TROLLEY WIRE

23 MATERIAL

ALUMINUM BRONZE ASTM B30

BOLT, NUT AND L. WASHER - ST STL

;| 07518
LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE BY [ APR DRNE[;I:ATE‘ FAFL DOS SERT
3 REDRAWN IN INVENTOR 5-19-10 | NF | EP 10-25-96‘
cH e CLAMP, CW 4/0-350 MCM
CHK DATE: |Rev
10-25-96 JBCV35T-30T 10F1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

500 MCM CU (.814 DIA) MW

\

Sil

12

— =

SCALE1:1

r.
1
L

1 63/64

STUD, 5/8-18NF-2A, ST STL/

ITEM NO

DWG NO

D-6684

(O~

1 - —

/ /

LN

(SCAT-63-SS)

MATERIAL
ALUMINUM BRONZE

(MIN YIELD STRENGTH 30,000 PST)
TORQUE STUD 45 FT-LBS

4/0-350 MCM CW

LOCATION

CONTRACT NO

CUST /CONTR

REVISI

ONS

DRN BY:

REV

DESCRIPTION

DATE

BY

APR

KH
DRN DATE:

RE-DRAWN IN INVENTOR

10-5-09

BH

EP

04/22/1988

CHK BY:
JS

CHK DATE:

04/22/1988

T AFL

DOSSERT

CLAMP, DUPLEX, 500 MCM MW, 4/0-350 MCM CW

REV

2

JBCV50-21T-200

10F1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

500 MCM CU (.910 DIA)
122 STRAND
BARE OR 2KV INSULATION
OR
500 MCM CU (.922 DIA)
CLASS "G" OR "H"

4

)
j

T
L
B

o

1
-J
=

it

ITEM NO

DWG NO

D-6948

STUD, 5/8-18NF-2A, ST STL

(SCAT-63-SS)

MATERIAL.:
ALUMINUM BRONZE

(MIN YIELD STRENGTH 30,000 PST)
TORQUE STUD 45 FT-LBS

A
O

-1 1/2 ——]

4/0 - 350 MCM CW

LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE | BY [APR DRNBIZ?ATE: FAFL DOSSERT
S | RE-DRAWN N RVENTOR 26091 BR | EP 072471990 CLAMP, DUPLEX, 500 MCM (.910 & .922 DIA) MW,
CHKJIZ?ATE' 4/0-350 MCM CW
07/26/1990 REV JBCV50F-34T-200 10F 1




1/2-13

=

ITEM NO
DWG NO

L
N
b=
=2

i OSB

S — T TS BAZ

S A — ~ i¥e)

~ = 10

7 — EZz5
n=-

. —. —n * em— A_ms

o — NY

— \\ N_R

8 =1 o 255

Ew S
<20 _j
e
W= oz
<3 %5
—l
<0z

Q 2 3/4

21/2
DOSSERT
BCV119-34T-234-250

2

THIS DRAWING AND ALL INFORMATION ON IT IS THE PROPERTY OF AFL. IT IS CONFIDENTIAL AND IT IS GIVEN TO YOU FOR A LIMITED PURPOSE AND MUST BE RETURNED UPON REQUEST. NEITHER THIS
DRAWING OR ANY PART OF IT NOR ANY INFORMATION CONCERNING IT MAY BE COPIED, EXHIBITED, OR FURNISHED TO OTHERS NOR PHOTOGRAPHS TAKEN OF ANY ARTICLE FABRICATED OR
ASSEMBLED FROM THE DRAWING WITHOUT THE CONSENT OF AFL.

i
(@]
. | &
c 212 s
2 ||E |o
O Al
%)
4|8
=NI=
O |m
R_
= |2
LP:..I
WL =3
o MB
e O
R ¢ =
<<
1 (S
i
b
Q
o
>
&
g @y
5 52 %
c Z2 I X
DWCW
o
o
<
>
o
w
=
<<
a
pd
(o]
=
3 o
S |8
28 -4
>
2|2
&
&2
a
o
o




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

ITEM NO

DWG NO

D-6871

~—11/2— MIN. 4/0 TROLLEY WIRE (.428 DIA)
MAX. 4/0 ROPE LAY CLASS G (.599 DIA)

.

11/2 E 2 1/2-13

-

i
1R

N\
e

4/0-350 MCM GROOVED TROLLEY WIRE

MATERIAL
COPPER ALLOY
BOLT, NUT AND L. WASHER - SILICON BRONZE
0.60 LB
LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:
DESCRIPTION DATE | BY |APR DR’\E"'DSZ\TE_ FAFL DOSSERT
REDRAWN IN INVENTOR 51910 | NF | EP | 11-28-89
CHLTSBY: CLAMP, CW 4/0-350 MCM
CHK DATE: |ev
11-29-89 | '3 JBCVH21F-21T-150 10F 1




ITEM NO

DWG NO

D-5318

~—25/8 ——

1/2-13 (TYP.)
< 13/8—

//

e = [\

eI FERET 5/16 19/16

Samvis I

)
b2

14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

~—1 3/8—=

T | ™~
. <—4/0 OR 336.4 MCM GROOVED TROLLEY WIRE (3)

A A
MATERIAL
ALUMINUM BRONZE ASTM B30
BOLTS AND L. WASHERS - SILICON BRONZE
1.5LB
LOCATION CONTRACT NO CUST / CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE BY [ APR DRNE[iTE‘ FAFL DOSSERT
4 REDRAWN IN INVENTOR 5-19-10 | NF | EP 1 1-28-79
CHFSBY: MIN. DEPTH WIRE CLIP
CHK DATE: |=ev
5-6-80 | 4 MH-28 10F 1




ITEM NO
g % é DWG NO
= D-5827
592
25<
’———’—5/8-11 (5/8 EFF. THREAD) /(4) 3/8-16X1 BOLTS
b, r_l|/' 1 91/16
-~ 11— ~—1 3/8—» -1 3/8—»
22| 2 19/32 (MAX.)—= 31/2
4/0 MCM GROOVED TROLLEY WIRE-
5 MATERIAL
CLAMP BODY - COPPER ALLOY
BOLTS AND L. WASHERS - EVERDUR
| 1618
LOCATION CONTRACT NO CUST /CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE BY | APR DRNE[iTE‘ FAFL DOSSERT
2 REDRAWN IN INVENTOR 5-5-10 NF | EP 6-22-82
CHFSBYZ DUAL CONTACT CLAMP, CW 4/0
CHK DATE: |Rev
6-23-82 MH2C-24-0 Tor 1




ITEM NO

~—1 3/8—=

|

ALUMINUM BRONZE ASTM B30

3/16
BOLTS AND L. WASHERS - SILICON BRONZE

MATERIAL

4/0 or 336.4 MCM GROOVED TROLLEY WIRE

I
|
.
21/2

@33/64

1.2 LB

THIS DRAWING AND ALL INFORMATION ON IT IS THE PROPERTY OF AFL. IT IS CONFIDENTIAL AND IT IS GIVEN TO YOU FOR A LIMITED PURPOSE AND MUST BE RETURNED UPON REQUEST. NEITHER THIS
DRAWING OR ANY PART OF IT NOR ANY INFORMATION CONCERNING IT MAY BE COPIED, EXHIBITED, OR FURNISHED TO OTHERS NOR PHOTOGRAPHS TAKEN OF ANY ARTICLE FABRICATED OR
ASSEMBLED FROM THE DRAWING WITHOUT THE CONSENT OF AFL.

[T
o
s o
z & (s
c || <
=
w
2 || O
10|k
Z
Ay
T
5|5
- |
= |
< 1=
wd | W
THRO
. || 2
= am
Q m
P
E
(S
o)
o
=
%1
T INL
NADbRAo
gWz—ED o
Dmgcwg
o
% |
>l
m|Z
Em
©
503
p4
o
=
S
3 |2
- o
al =z
>10
ol8lx
gl
c|Z2
gl
|z
ofz
pz4
=
<<
o
a
w
o

REV

1




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

3/8-16 UNC - 2A

ITEM NO

R5/8

41/16

—N

]

bl b

"TIT[!"
w\ BOLT RETAINER

(TYP)

5/8-11 UNC - 2B

4/0 AUXILIARY
CONTACT WIRE

4/0 OR 336.4 MCM

MATERIAL CONTACT WIRE

ALUMINUM BRONZE

(MIN YIELD STRENGTH 30,000 PSI)

(4) 3/8-16 X 1 1/4 HEX HD. BOLTS

AND NUTS - EVERDUR

(MIN YIELD STRENGTH 45,000 PSI)

RECOMMENDED TORQUE - 250 IN-LBS

SCALE 2/3
TOCATION CONTRAGT NO CUST/ CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE | BY [APR DRNB[')"ATE: FAFL DOSSERT

1(9'*2 é)\? TAP, DUAL CONTACT WIRE, 4/0-336.4 MCM
CHK DATE:

REV

POT2C25-34T-63 10F 1




ITEM NO

5/8-11 UNC - 2B

1 13/32——‘

1 5/16——(
|

il —

Il i

SCALE1:1

T
-
VIEW A-A

1
:—

LS

N
Q —~
D | g
A | S & S
@) o
i MI ~
~ = a
. 2 M T
(42) O O =
— Q.A w O
= N 2
x = = 0
oV x
S @ O
o
* =4
- - - Www”Y
SEE
S|

10F1

THIS DRAWING AND ALL INFORMATION ON IT IS THE PROPERTY OF AFL. IT IS CONFIDENTIAL AND IT IS GIVEN TO YOU FOR A LIMITED PURPOSE AND MUST BE RETURNED UPON REQUEST. NEITHER THIS
DRAWING OR ANY PART OF IT NOR ANY INFORMATION CONCERNING IT MAY BE COPIED, EXHIBITED, OR FURNISHED TO OTHERS NOR PHOTOGRAPHS TAKEN OF ANY ARTICLE FABRICATED OR
ASSEMBLED FROM THE DRAWING WITHOUT THE CONSENT OF AFL.

B~ O
_|K]=
s || 8
5 =
mS4.
s (2] 8

(4p]
O
Ao |9

5 |9

w |

T (O

= 16

T

LCP

T s
- || 8
z
Qo
1 (N
g o
FE

o
Rn/_

Lol i

mSmﬂmSWJ

EW-RE5<q

8 545 Fo

o

% |
>
o| o

[}
w|o
<|8
alas

pd
(o]
Q
S

(2]
2 15

n

AEE

Rmm

ol
%V
al=
oz

zZ

s

<<

o

a

u

o
>
w | o
o




ITEM NO
DWG NO

4 1/4
ALUMINUM BRONZE ASTM B30

STUDS - STAINLESS STEEL

MATERIAL

-1 1/8T1 1/8 —=

5/8 EFF. THREAD

5/8-11

THIS DRAWING AND ALL INFORMATION ON IT IS THE PROPERTY OF AFL. IT IS CONFIDENTIAL AND IT IS GIVEN TO YOU FOR A LIMITED PURPOSE AND MUST BE RETURNED UPON REQUEST. NEITHER THIS
DRAWING OR ANY PART OF IT NOR ANY INFORMATION CONCERNING IT MAY BE COPIED, EXHIBITED, OR FURNISHED TO OTHERS NOR PHOTOGRAPHS TAKEN OF ANY ARTICLE FABRICATED OR
ASSEMBLED FROM THE DRAWING WITHOUT THE CONSENT OF AFL.

[T
(o]
-
o
=
E | &
S || &
= n
2 || Q
o o
Q| -
al s
1
©
S_M
= |3
© 5
LPH
= |
W S
2 AC
Z
Q
<<
(S
€
zZ
Q
(&)
Ry
C
s fEes Ee
BBADHMBLMM
X
WBNQHRKQ
Dmgc Wg
o
% |
> w
m|Z2
w2
£l
als
pd
o
=
S
o |2
- o
alz
|5
o8l
RWW
o|g
0|z
ez
zZ
B
<<
o
a
w
o
>
_m_Im_oo




ITEM NO
DWG NO
D-6595R

ALUMINUM BRONZE ASTM B30
STUDS - STAINLESS STEEL

4 1/4
MATERIAL

-1 1/8T1 1/8 —=

()
<C
(1N]
4
I
-
T
o L
.ﬂ_E
AN O
S~ T
~— LN
ﬂh”ﬂjﬁq|
| H i}
Wﬁ”ﬁiL“
|~
SL
iy
0
~~

LN

THIS DRAWING AND ALL INFORMATION ON IT IS THE PROPERTY OF AFL. IT IS CONFIDENTIAL AND IT IS GIVEN TO YOU FOR A LIMITED PURPOSE AND MUST BE RETURNED UPON REQUEST. NEITHER THIS
DRAWING OR ANY PART OF IT NOR ANY INFORMATION CONCERNING IT MAY BE COPIED, EXHIBITED, OR FURNISHED TO OTHERS NOR PHOTOGRAPHS TAKEN OF ANY ARTICLE FABRICATED OR
ASSEMBLED FROM THE DRAWING WITHOUT THE CONSENT OF AFL.

[T
(o]
—
o« “
T
E | &
S || A
=
2 || Q
) m
Of o
D4_|4
QA-
— 1.1
.,T
= |
13
a 1o
LMH
< |»
o —
z ‘H O
-
1)
<
2 (N
E
=z
Q
)
Z o
c
s fEes Ee
BVMWBLMM
WCNZWRKZ
[Fle) I o
DD9CC9
Tla
o
AE
>lw
n|z
w2
=
Ol
z
o
P
)
9 |2
)
@l =z
>10
o119
ok |2
5|&
|z
Qlz
z
=
=<
i
a
w
o«
>
wl| m
[




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

3/8-16

ITEM NO

DWG NO

B-8969

71 19/32

5|

1.5LB

300 MCM CONTACT WIRE

MATERIAL
ALUMINUM BRONZE ASTM B30
BOLTS, NUTS AND L. WASHERS - STAINLESS STEEL

LOCATION CONTRACT NO CUST/CONTR
REVISIONS DRN BY: F
REV DESCRIPTION DATE | BY |APR DRNEJATE. ’AFL DOS SERT
2 | REDRAWN IN INVENTOR 52510 | NF | EP | 10-1-04
CHK BY: CLAMP, CW, SWIVEL

CHK DATE:

REV

T2CDS-B3422-01 10F 1




ITEM NO
DWG NO
D-7577

SECTION A-A

~—19/16—]

4/0-350MCM CONTACT WIRE
NUTS AND L. WASHERS - SILICON BRONZE

2
m
=
L =] M
i
W e Z
S F _ 2
5 ﬁ — 25
L 4 =17p)
35 T e
©) =<8
N
LA |
1L} :
S LN
<4 I | | < o
o
= AN
@
oS W\JJ)
/‘\_

0.75 LB

THIS DRAWING AND ALL INFORMATION ON IT IS THE PROPERTY OF AFL. IT IS CONFIDENTIAL AND IT IS GIVEN TO YOU FOR A LIMITED PURPOSE AND MUST BE RETURNED UPON REQUEST. NEITHER THIS
DRAWING OR ANY PART OF IT NOR ANY INFORMATION CONCERNING IT MAY BE COPIED, EXHIBITED, OR FURNISHED TO OTHERS NOR PHOTOGRAPHS TAKEN OF ANY ARTICLE FABRICATED OR
ASSEMBLED FROM THE DRAWING WITHOUT THE CONSENT OF AFL.

[T
o
-
o
s
c | &)
o}
o QM
.nM |
g |02 @
SO 2
= | =
Q »n |o
Wsho
o
O |
N Kop)
o |m
M 1
< n
'h 10
THREHI®
o
z =
- ‘ﬂ
Q
<
1 (N
s
zZ
o}
o
Z o
C
>SRNy BN
e T
FWoWXX O
a ™o IT™
(=] o
Tla
o
AE
> w
m|Z2
w2
<&
Oy
pd
o
E
S
9 |2
o
alz
>10
o8 lx
clg|e
e
|z
ofz
zZ
=
<<
o
a
w
o
>
wl| m
o




< 1
(®) o Q\ L
: Lo — i
_.__H._ MJ H | | qu

o § w0

) < L )
= > & =
= =
2 g = =
— — - U [
(@) I n
R % T —
= )
O R =
O o £
= > W0
@) <
= @=
. 2 y
~ 6 MnU
- o S Z
"1 N mmp_b
=D
| MWN
A=)
w|S 2
223
-
a |
= |
= -
S :
) < _ < ™
T _
|

1.0LB

THIS DRAWING AND ALL INFORMATION ON IT IS THE PROPERTY OF AFL. IT IS CONFIDENTIAL AND IT IS GIVEN TO YOU FOR A LIMITED PURPOSE AND MUST BE RETURNED UPON REQUEST. NEITHER THIS
DRAWING OR ANY PART OF IT NOR ANY INFORMATION CONCERNING IT MAY BE COPIED, EXHIBITED, OR FURNISHED TO OTHERS NOR PHOTOGRAPHS TAKEN OF ANY ARTICLE FABRICATED OR
ASSEMBLED FROM THE DRAWING WITHOUT THE CONSENT OF AFL.

[T
(o]
-
o
=
E | &
o
o S
2 || m
g L
N e =
< |
Ao |o
Wsho
o
© 13
WB
1
'h < wn
1
Lo |O
o)
=z T
Z A
Q
<<
(S
€
zZ
Q
(&)
Ry
C
5 EBE_E9
NHD&KWDW
r— zc x
o RW% To
a o~
Tla
o
AE
>|w
m|Z2
wie
Ae
S|
pd
o
=
S
9 |2
o
alz
|5
o8l
clg|2
0|z
ofz
zZ
=
<<
o
a
w
o
>
wil m
o




14V 40 INISNOO IHL LNOHLIM ONIMYHA FHL WOdd4 A319NISSY

d0 Q3L1vOldgv4 310114V ANV 40 NIMVL SHAVHOOLOHd HON SHIHLO OL A3FHSINGNS HO ‘a3 LIgIHX3 ‘d3Id0O 39 AVIA LI ONINHIONOO NOILYINHOANI ANV HON LI 40 LHVd ANV HO DNIMYHAd

SIHL 43HLIIN '1S3N03d NOdN d3aNdNL13d 39 LSNIN ANV 3SOddNd d3LINIT ¥V 404 NOA OL NIAID SI LI ANV TVILNIAIANOO SI LI 114V 40 ALd3d0dd IHL Sl LI NO NOILYINGO4NI 11V ANV ONIMYHA SIHL

MATERIAL

ASTM B30

SILICON BRONZE

ALUMINUM BRONZE

T.S. (MIN) 75,000 PSI
Y.S. (MIN) 30,000 PSI
BOLTS, NUTS, AND L.WASHERS

2 15/16

ITEM NO

DWG NO

STUD, 3/4-10 THD
/_(TCDS34T—STUD)

SECTION A-A

4/0, 300 MCM, AND 350 MCM

CONTACT WIRE
SCALE1:1
LOCATION CONTRACT NO CUST /CONTR
REVISIONS DRN BY:
REV DESCRIPTION DATE | BY |APR DRNSEQTE. FAFL DOSSERT
0 | RE-DRAWN IN INVENTOR 93009 | BH | EP |09/30/2009
CHKBY: CLAMP, SWIVEL CONTACT WIRE, 4/0 - 350 MCM
CHK DATE:

REV

0

TCDS34T 10F 1




ITEM NO
DWG NO
D-7111

3/4-10
/- STEADY ARM
DONUT TYPE
SWIVEL STUD

]

SECTION A-A

7/16
NUTS AND L. WASHERS - SILICON BRONZE

4/0-350 MCM CONTACT WIRE

ALUMINUM BRONZE ASTM B30

MATERIAL
BOLTS,

2 15/16

0.85 LB

THIS DRAWING AND ALL INFORMATION ON IT IS THE PROPERTY OF AFL. IT IS CONFIDENTIAL AND IT IS GIVEN TO YOU FOR A LIMITED PURPOSE AND MUST BE RETURNED UPON REQUEST. NEITHER THIS
DRAWING OR ANY PART OF IT NOR ANY INFORMATION CONCERNING IT MAY BE COPIED, EXHIBITED, OR FURNISHED TO OTHERS NOR PHOTOGRAPHS TAKEN OF ANY ARTICLE FABRICATED OR
ASSEMBLED FROM THE DRAWING WITHOUT THE CONSENT OF AFL.

10F1

CUST / CONTR

DOSSERT

CLAMP, CW, SWIVEL
TCDS34T-S

T AFL

CONTRACT NO

1

DRN BY:
VC
DRN DATE:
9-6-91
CHK BY:
RL
CHK DATE: [Rev
9-6-91

BY | APR

5-26-10 | NF | EP

DATE

LOCATION
REVISIONS
DESCRIPTION

REDRAWN IN INVENTOR

1

REV



